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SECTION - A

| 00O RO

i) General Awareness

- Which of the following is known as

golden fibre ?
(A) Silk
(C) Cotton

(B) Wool
(D) Jute

Which of the following Article vested
powers with the President to declare
Emergency because of threat to the
country’s security due to external
aggression or war or armed rebellion ?

(A) Article 378
(B) Article 352
(C) Article 112
(D)| None of the above

WHho among the following is the
14t President of India ?

(A) Pranab Mukherjee
(B)| Ram Nath Kovind
(C)! Pratibha Patil

(D)g None of the above

Which of the following city is located on
the bank of the river Sumida ?

(A) Tokyo, Japan

(B) Beijing, China

(C) New Delhi, India
(D) None of the above

thrld Lion Day celebrated every year on
(A) 10t August

(B) 12t June

(C) 2" March

(D) None of the above

6.

10.

Who was the architect of Operation Flood
in India ?

(A) Dr. Verghese Kurien

(B) M. S. Swaminathan

(C) Amartya Sen

(D) None of the above

Ramsar convention is related to the
conservation of

(A) Rivers

(B) Western Ghats
(C) Wetlands

(D) None of the above

Optical Fibre Cable (OFC) works on the
principle of

(A) Total Internal Reflection

(B) Diffraction

(C) Absorption

(D) None of the above

Who among the following is the founder
of E-commerce giant Alibaba ?

(A) Jeff Bezzos

(B) Mark Zuckerberg
(C) Jack Ma

(D) None of the above

Which of the following crop is known as
white goid ?

(A) Cotton crop

(B) Mulberry crop

(C) Sunflower crop

(D) None of the above



. F=fafes & @ F-w T gfmr @ &
frm feme ?

(A) JAfF, SO

(B) i, St

(C) = faceht, wra

(D) 3% H & IS A&

. Tove e Rag vfaad Eak:cio
e |

(A) 10 3FRG

(B) 1253

(C) 20

(D) 350 & =g T

10.
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i) W AR

. FrfoRas # & 6 Mee wgan w1 6. WA H TRIHA TS T TRGHR HI o ?
ST e ? (A) . s Fiem
(A) WH (B) (B) TH. TH. T
(C) () ©) &

P S s e || | © SRR AR 3
NP@ATH GRS FO AT | 7 rwdf Fwewmdgata |
1 TR & HRO ATAHI G FE (A) Rt
viFd Tgufamear g ? (B) TfRnt
(A) 3IT=HT 378 ©) st
B) 3TT=8% 352 :

((C; e {12 (D) 3% & @ FrE TE
(D) 3 H & g T 8. IAfRFawEmIaal ____ Ffgid W

. Pefofeadasm yra s 14 dfueafa? ? j\l;f?ﬂ:ﬁ?m
() PR (B) Tomda
(B) THATY Hifdg DA,

() it it ) et

Frefafea 1 @ 99 §-=ind sg= srefamEr
T GEIF & 7

(A) % S

(B) e Spertet

(C) S

(D) 3% # & IS T

Frafefes & @ e woor = % @
FEAE 7

(A) HIE HEA

(B) W&l B

(C) Fget Faa

(D) J&d | 9 I3 TEI
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12.

13.

14.

15.

Which one of the following is an artificial
lake ?

(A) Kodaikanal lake
(B) Vembanad lake
(C) Chilka lake

(D) None of the above

Which one of the following diseases is
not due to the contamination of water ?

(A) Anaemia
(B) Cholera
(C) Diarrhoea
(D) None of the above

Which one of the following brings the
“Nutrition at a Glance Research Report” ?
(A) IMF

(B) World Bank

(C) FAO

(D) None of the above

A famous sports personality
Pankaj Advani is related to which of
the following sports ?

(A) Carrom

(B) Snooker

(C) Chess

(D) None of the above

Which one of the following is land locked
state in India ?

(A) Maharashtra

(B) Tamil Nadu

(C) Telangana

(D) None of the above

16.

17.

18.

19.

20.

The largest planet in the solar system is
(A) Mars

(B) Earth

(C) Jupiter

(D) None of the above

“Seoul Peace Prize - 2018” was
awarded to

(A) Narendra Modi
(B) Donald Trump
(C) Vladimar Putin
(D) None of the above

Patachitra a traditional painting art
mainly found in which of the following
state ?

(A) Odisha

(B) Kerala

(C) Rajasthan

(D) None of the above

Cusec is a measure of the rate of flow
of liquid commonly used by the irrigation
department to measure the water
outflow. One Cusec is approximately
equal to

(A) 28.32 litres of water flow per second
(B) 78.64 litres of water flow per second
(C) 138.76 litres of water flow per second
(D) None of the above

In which of the following High Court the
first paperless e-court established in

India ?

(A) Hyderabad High Court
(B) Bhopal High Court

(C) Chennai High Court
(D) None of the above
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12.

13.

14.

15.

FeffeadasR-HwFtmdias ?
(A) FieHATS i

(B) F=TE Hw

(C) Taew it

(D) 3 | & H1S T

frerferfaa & & -1 T T ST o Hg
FFROTAE S 7

(A) 3

(B) &M

(C) swf@n

(D) 3o H W HIS &

Frafafes 3 @ =9 <fem © v =
fogsl fae S s & 7

(A) HTSTHTH

(B) favads

(C) uHTH

(D) 3% | & IS &

UHS AT, TH g Te AfFaca
Freafafga g@= o @ free gaftm e ?
(A) o

(B) ﬁ:ﬁ

(C) T

(D) 3o H & IS A&

freferfiaa # & F-a1 i 3 IR o
g fmrsad ?
(A) HERTS

(B) dfHEATg
(C) =T

(D) 3% # & 1§ &

16.

.

18.

19.

20.
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IREysa g ST Ue @
(A) =T

(B) et

(C) FEEfd

(D) 3% H W FIE A

B3 W TEPR-2018" 3% Y faan
111

(A) Tz aEt

(B) SHTE W

(C) =T ge=

(D) 39 ¥ & FIE TEl

Y2, U T fesreren frerferfea o
Afrr T AU s R 7

(A) snifemm

(B)

(C) TSI

(D) 3% H | =IE TE

FES 3 o JaTE 3 AT o fore R
fawm g0 g S Ya9TE # AW R |

1 FEF & AT

(A) 28.32 T et YaTe Ufd Tehe
(B) 78.64 X 51t ot Wid Tehe
(C) 138.76 X 51t YaTe ufd Ths
(D) 3o & & HrE 7

FrafaRes s=9 T 4 9 wra 8 geel
FITSRIEd 3-HASTerd foram wuTfiq < 8 ?

(A) TR I=a AT
(B) U 39 R
(C) =% 3= <™
(D) 3% H & FIE T
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23.

24,

25.

(C) 6

A and B are brothers. C and D are
sisters. A’s son is D's brother. How is B
relatedto C ?

(A) Father

(B) Brother

(C) Uncle

(D) Grandfather

Deepak went 20 meters to the East,
he turned left and walked 15 meters.
He turned again right and went
35 meters. He again turned right and
walked 15 meters. How far is he from
starting point ?
(A) 35 meters
(C) 55 meters

(B) 50 meters
(D) 60 meters

English, French and Hindi can be

represented by
®

A ©o

© QD ©® 000

In a dictionary, which of the following
words will appear last ?

(A) Actuate (B) Accumulate
(C) Acquit (D) Achieve

Inthe series64122874215386
21714232 86, how many pairs of
successive numbers have a difference
of 2 each ?
(A) 4 (B) 5

D) 7

100 0O OO 0 0

ii) General Intelligence and Reasoning Ability

26.

27.

28.

29.

30.

A is older than B but younger than C.
D is younger than E but older than A.
If C is younger than D, who is oldest
of all ?

(A) A (B) C
(C) D (D) E
If + means x, x means +, + means —and
— means +, then what will be the value
of 50-10x20+5+27
(A) 25 (B) 15
(C) 20 (D) 18
Identify the wrong term in the series.
69, 55, 26, 13,5
(A) 5 (B) 55
(C) 13 (D) 26
Find the missing number.
9 516
5 Ciad 4
3 4 | 5
135 | 140|150
(A) 8 (B) 10
(C) 5 (D) 4
Find the missing letter.
A|E]| I
B|F|J
?71G
(A) C (B) D
(C) E (D) F
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21.

22.

23.

24.

25.

ASRBYWEE, ColR DT &, AT T
DHFIVEL IBFCARTEET R ?

(A) foen

(B) g

(C) ==

(D) <m&t

dios qd # 20 Hex m, 9d ger Wk
15 HieX I& | gA: a8 a1 3R 35 Hiw
T | T: T8 T 37K 15 HiX =l | T8
amifyes fog & Rt e 7

(A) 354X (B) 50 #HteX

(C) 55Hi (D) 60 Htex

sl s 3R & = G

TSI ST =R |
(B)

A ©O0
© () © OO0

T Yiseshy | Fefafea 8 & SH-a1 wse
eg o7 | e ?
(A) Actuate

(C) Acquit

(B) Accumulate
(D) Achieve

TEAI64122874215386217
14232 86¥ fora waFTG 980 & W

AR A 2w T R ?
(A) 4 (B) 5
(C) 6 (D) 7

26.

27.

28.

29.

30.
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A, BATSITWI CHA BRI R | D, E A B
WgARSETR | AR C, DABRIE, @
TEH TSI R 7
(A) A
) D

B) C
(D) E

e o 37 x B, x H1 3 +, + 7 3~
AN -—Fd +, A50-10x20+5+2
FIAE R

(A) 25 B) 15
(C) 20 (D) 18
e H TTerd ST TESIT |
69, 55, 26, 13, 5
(A) 5 (B) 55
(C) 13 (D) 26
T T I R |

9 | 51|68

5 | 7] 2

3 |4]5

135 | 140 150
(A) 8 (B) 10
) 5 (D) 4
T &R I R |

AlE]| I

B|F|J

271G
(A) C B) D
(C) E (D) F
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31.

32.

33.

35.

Complete the analogy.
Cow : Calf ; :

(A) Cat: Kitten
(B) Lion : Puppy
(C) Dog:Cub

(D) Duck : Chicken
Belt is to waist as is to neck.
(A) Shorts

(B) Tie

(C) Shirt

(D) Collar

Select the pair in which the numbers are
similarly related as in the pair 11 : 121.

(A) 1:1
(B) 3:6
(C) 7:14
(D) 10:110

Select the words which are least like
other words in the group.

(A) Algebra

(B) Arithmetic
(C) Trigonometry
(D) Stoichiometry

Select the number which is different
from the rest three.

(A) 23
(C) 79

(B) 53
(D) 93

36.

37.

38.

39.

40.

Select the group of letters which is
different from others.

(A) MPS (B) ILO
(C) SVY (D) ADF

Find the correct alternative for Mars,
Mercury, Venus.

(A) Stars

(B) Planets
(C) Satellite
(D) Asteroid

Complete the series.
9,19, 28, 36, 43, 49, 54, 58, 61, ?

(A) €3 (B) 65
(C) 62 (D) 64

Find the missing letters that will complete
the seriesabb _ _b_aa_b _.

(A) aabba
(B) ababa
(C) abbaa
(D) abaab

In a certain language if ‘REMOTE’
is coded as ‘ETOMER’ then how is
‘COPPER’ coded ?

(A) REPPCO
(B) REPPOC
(C) PREPCO
(D) ERPPCO



31.

32.

34.

35.

FHETAT U . |
Cow : Calf : :

(A) Cat: Kitten
(B) Lion : Puppy
(C) Dog: Cub

(D) Duck : Chicken

Soe 1 FR Y I8 gayg B I £
T |

(A) wéE
(B) =r$

(C) =His
(D) iR

& 7% g o gt % sfie ad gy
TS| 11121 F e

(A) 1:1

(B) 3:6

(C) 7:14

(D) 10:110

TE Y153 T ST TE F 3 Tea| & T
1 firerd ¥ |

(A) ssmrfira
(B) T
() Ty
(D) ToaHieRoTf

% den g St o A A A |
(A) 23 (B) 53
) 79 (D) 93

36.

37.

38.

39.

40.
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HER 1 98 998 AU S S A R R |
(A) MPS (B) ILO
(C) SVY (D) ADF

TS, 9, Y5 % fore wét freer i |
(A) TR

(B) TE

(C) 39U

(D) e

T o |

9,19, 28, 36, 43, 49, 54, 58, 61, ?
(A) 63 (B) 65

(C) 62 (D) 64

Y HERFEA A SHabb__b_aa_b_
TG g0 |

(A) aabba

(B) ababa

(C) abbaa

(D) abaab

T W91 H Al ‘REMOTE’ %t ‘ETOMER’
% ¥9 § Fesg 41 91 & §1 ‘COPPER’
%1 fohe YR Feag fman s ?

(A) REPPCO
(B) REPPOC
(C) PREPCO
(D) ERPPCO
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41.

42,

If 10 students of class X took part in a
quiz and the number of girls is 4 more
than the number of boys. The number
of girls who took part in the quiz is

(A) 4
B) 7
(C) 6
(D) None of these

The sum of a two digit number and the
number obtained by reversing the digits
is 66. If the digits differ by 2 and the digit
in the unit place is smaller than the digit
in the 10™ place, the number is

(A) 24 (B) 42
(C) 62 (D) 26

5 years ago, A was thrice as old as B.
10 years later A will be twice as old as B.
Present age of A is

(A) 45 yrs.
(B) 50 yrs.
(C) 35yrs.
(D) None of these

A fraction becomes % when 1 is

subtracted from the numerator and it
1

becomes Z when 8 is added to its

denominator. The fraction is

5 3
(A ®) =
6
(©) 13 (D) None of these

A0 O O A ARG

iii) Arithmetical and Numerical Ability

46.

47.

48.

49,

50.

ABCD is a cyclic

quadrilateral. The largest angle is
(A) 110° (B) 130°
(C) 120° (D) None of these

The product of 2 consecutive integers
is 90. Then the 2 +ve integers are

(A) 9,10
(B) 8,9
(C) 15,6
(D) None of these

The difference between the squares of
2 positive numbers is 180. The square
of the smaller number is 8 times the
larger number. The two numbers are

(A) 16, 14 (B) 12,18
(C) 10,8 (D) None of these

If probability of an event A is 0.1, then
P (not A) is

(A) 0.09 (B) 0.99
(C) 0.9 (D) 0.1
The mean of first 10 natural numbers is
(A) 55 (B) 55

(C) 6 (D) None of these

If volume of a cube is 64 cm?3, then its
side length is
(A) 8cm
(C) 4cm

(B) 32cm
(D) None of these
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iii) STRTUTIR Uel HGATeHeh T

afe X e % 10 foeial o gt 3
I o4 & 3R iRl i ve weH 4
4 3ftes B, 9 3@ TEINA 9 9T
REERICIRC kS

(A) 4

(B) 7

(C) 6

(D) 38 & g T

3} 37eh! sl TT I 1T T 37! ! e
% WG YT TEAT 66 ® | TG Al & &9
1 3R 2 B 3R T & TUH WS wEn
2 I8 TETE 91t 37 © BT T, HEAT 8
(A) 24 (B) 42

(C) 62 (D) 26

598 G, AT ST B ot 37g T om off |
10 = g A it =71y B il 3117 31 qEm
et Al I g ®

(A) 4594
(B) 50T
(C) 35
(D) T & 1 7

t{%ﬁfﬁ%ﬁmﬁt%w IANA Y 1 T

TS iR —l-ﬁrmfﬁ%aaaﬁss?m

EIGIEAREERS
3
® = ® -

© 2 (D) T &%

46.

47.

48.

49,

50.

ABCD U Ra T € |

Tag a2 HI01 2
(A) 110°
(C) 120°

(B) 130°
(D) ¥4 ¥ IS et

2 SHTTA qUTTehl ST UM% 90 &, T
2 YTHS U &

(A) 9,10

(B) 8,9

(C) 15,6

(D) T & s T

2 UHTcHS: TEIT & I & s 3T
180 | B T&A H T FE GE&A

8 T[T & | QT Ty §

(A) 16, 14 (B) 12, 18

(C) 10,8 (D) T 8 =Ig R
Ife Uk =TT A Y Tiekar 0.1 ®, @t
P (not A) ®

(A) 0.09 (B) 0.99

(C) 0.9 (D) 0.1

TIH 10 WTeHfdeh TSl 1 7T §

(A) 55 (B) 5.5

©) 6 (D) ¥ ¥ wIE T
Ife Uk U9 1 A 64 cm3 R, a1 gEeht
ESIEIRGEIR S

(A) 8cm (B) 32cm

(C) 4cm (D) 99 ¥ =i &l
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51.

52.

53.

85.

-12-

The area of a triangle formed by the
points (5, 2), (4, 7) and (7, 4) is

(A) 2 square units
(B) 3 square units
(C) 4 square units

(D) None of these

Value of sin60° cos30° + cos60° sin30° is
(A) 2 (B) 1

© 3 o 3

The sum of first ten terms of the AP
2 7.12,.317....18

(A) 230
(C) 255

(B) 245
(D) none of these

The sum of the terms of
34+32+30+...+10is

(A) 286
(B) 198
(C) 250
(D) None of these

Which term of the AP, 3, 8, 13, 18, . ..
is78 ?

(A) 10

(B) 18

(C) 16

(D) None of these

0 00 0 OG0 00 O

56.

57.

58.

59.

A vertical pole of length 6 m casts a
shadow 4 m long on the ground and at
the same time a tower of height ‘i’ m
casts shadow of length 28 m on the
ground. Then h =

(A) 42m
(C) 30m

(B) 28m
(D) None of these

The roots of the equation 5x2 — 6x — 2 = 0
are

1+ 11
e e
C) 2,3 (D) None of these

When the polynomial p(x) =x3 —3x2 + 5x—3
is divided by x2 — 2, the quotient
obtained is
(A) 7x-9
(C) x+3

(B) x-3
(D) x-1

If HCF of 2 numbers 306 and 657 is 9
then LCM of same 2 numbers is

(A) 23228

(B) 22338

(C) 228

(D) None of these

A quadratic polynomial with sum
and product of its zeroes as l, -1
respectively is 4

1

(A) x2+x+% (B) xz—zx-1

) x2 +%—1 (D) None of these



81.

52.

13-

fegadi (5, 2), (4, 7) 3 (7, - 4) gRT AT
T B %1 &e & '

(A) 27 ghrg
(B) 37 gig
(C) 4= g+
(D) ¥ € =iE T

sinB0° cos30° + cos60° sin30° & M &
(A) 2 (B) 1

© 3 o 3

TR A 2, 7, 12, 17,... % 98t 10 9a1 &1
Tqr 2

(A) 230
(C) 255

(B) 245
(D) 38 & 1S e

34+32+30+...+10F R HMIME
(A) 286

(B) 198

(C) 250

(D) T & *I§ T

U At 3, 8, 13, 18, . . . F HA-AI
g 78% 7

(A) 10

(B) 18

(C) 16

(D) ¥ & =g 7

56.

57.

58.

59.

60.
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T 6 HIeL FT o Ush I @ ) oan
A W 4 WX oiefl s=3elt 2, 3 Ty
‘h’ HieX S8 & T 21T I ST G
W2 WX T B, A h =

(A) 42m (B) 28 m

(C) 30m (D) ¥ ¥ FrE T

THEHT 5x2 — 6x — 2 = 0 % qeA &

@ 20 g 2
©) 2,3 (D) ¥H & ¢ el

e WY p(x) = x® — 3x% + 5x — 3
1 x2 - 2 R fafo fopn s @, wrar
AFTHS 8

(A) 7x-9
©) x+3

B) x-3
(D) x—1

Ifg 2 gEsTt 306 3R 657 &1 799 9 B,

Ot 3T T S 9T &

(A) 23228

(B) 22338

(C) 228

(D) ¥ & IS el

us T sgudia e vt 1 dm el
TOFHE %,-—1%

(A) x2+x+% (B) x2~—%x—1
© x*+3-1 (0 FHIPET
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iv) Hindi Language and Comprehension
2= v sy

TGl T FE AT FAAR | | e6. WRRFRITE T =
(A) @ (A) HEYITEF FaTH
(B) s (B) FfrveETs wdam
(C) Fda™ (C) YSHaTes o=
(D) wfersaq i o 2 (D) Fivagar=s gdvm
TEHT ITe5 h WA T ¢ 67. F=fufiaa & & F-wr o qolwtemn
(A) TTsFa form @ weiftrg & 7
(B) wet (A) TIETAIR |
(C) weHA (B) 98 @HI YTl 2 |
(D) TEFTS (C) % @M1 @ G 7T |

(D) TS % R |
Frra-faa gm % e o @
(A) HT-FANE 68. ‘TRIS ST T WowTr | Yt TS T E 7
(B) WEER-ow W (A) giETIETE Ty

(B) TvraTsieh famtyor
C £
(D') Wﬁﬁ TF;Q (C) T fagmmy
() (D) TEI™

FgaeH B

R AR 69. WS UHTEA W YT B JTel Y68 &
(A) =R AY i
B) =gy "
( B) T&
(€) =g (C) e
(©) e (0) T
ﬂw%ﬁaaﬁ?%amﬁaﬁm%? s ettt it |
(A) & e & smom | ) =@
(B) @i I @ Rawma | ®)
(C) ¥ @ v firr | () T
(D) HRRSTAE | (D) *TEa
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71. @ w@fg & ot B9 § 3w R | 76 mEew Y R

ofEdd_ weemar® | - .

(A) 3qEf @) B

B) W (C) feran-fasur
(G} s (D) wTEETES T
(D) oo

77. wEpfe i faswor = @ 7
72. T W F A €9 8

(A) H=pa

A) Tt _

EB; o (B) WreFf

©) T (C) wEpfo

D) Th (D) T

; 78. E& 9 g |

73. ‘Tegmyr = wiy-fomde !

®) T+ (B) 31T WA WAL # |

(©) fe + 1 (C) v femera & Feperdi 2 |

D) R+ (D) 35t @ sttEi § val @ |
74, o S T R R Fo G| | fopm 3 it e 2 |

(A) T I (A) I IA9TH 1A

(B) F’ﬂﬁ‘ﬁm (B) €M sdehIct

(C) fufsma amy (C) 3= S[qhrt

(D) T & id T (D) WmHr Wi et
75. TagHt wreg %1 gfewin =g & 80. =1 & U qeew Y% Biewt Fasy |

(A) fagm (A) 3FSIH

(B) farum (B) &=

(C) ferstam (C) W

(D) forga (D) Hre
15
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v) English Language and Comprehension
ST v 3R e

Add suitable question tags to the following
statements from among the choices given
below them.

81. The Mehras were good hosts, _____ ?
(A) were they
(B) wasn'’t he
(C) weren't they
(D) aren't they

82. She hasn'’t recovered from the
shock, ?
(A) hasn'tshe (B) haven'tit

(C) has she (D) is she

Select the word that is opposite in meaning
(antonym) to the word given in the question.

83. Omnipotent
(A) Ignorant (B) Powerless
(C) Dubious (D) Stable
84. Negate
(A) Promise (B) Add
(C) Deny (D) Affirm

Select the word that is most similar in meaning
(synonym) to the word given in the question.

85. Elucidate
(A) Strengthen (B) Intensify
(C) Sharpen (D) Clarify

-16-

86. Defer
(A) Delay (B) Refer
(C) Assume (D) Bear

Each of these questions presents a word that
may have been spelt incorrectly. From the
choices provided, pick the correct spelling
and mark that option of the right choice as
the answer or pick ‘no error’ if you think that
is appropriate.

87. Enthusiestic
(A) Enthusiastic (B) Enthuciastic
(C) Enthosiestic (D) No error

88. Amendment

(A) Amentmend

(B) Ammendment
(C) Amenndment

(D) No error

Fill in the blanks with appropriate words/phrases.

89. Neither Jhonny nor Joe forgot that
a test on Monday.

(A) they had

(B) he had

(C) he has

(D) they must have

90. cover on foot.
are too much for me to

were much enough for me to
is too much for me to

are so long for me into

Five miles
(A)
(B)
(©)
(D)
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91. If you need a coat you will have to buy
as | cannot give you mine.

(A) some (B) one
(C) any (D) it

Fill in the blanks with suitable preposition from
among the choices given below them.

92. Tom’s away at the moment. He'’s
holiday in France.

(A) at (B) on
(C) in (D) for
93. |saw Jack a concert last Saturday.
(A) at (B) on
(C) in (D) for
94. I'm going away the end of
January.
(A) at (B) on
(C) in (D) None of these

Fill in the blank with appropriate form of the
verb from among the options given below.

95. We're good friends. We
each other for a long time.

(A) have been knowing
(B) have known

(C) knew

(D) know

Fill in the blank with appropriate modal form
from among the choices.

96. It's late. It's time home.
(A) wemustgo (B) we should go
(C) wego (D) we went

+17=
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Read each sentence to find out whether there
is any error in it. The error, if any, will be in one
part of the sentence, the number of that part
is the answer.

97. Antarctica is not only forbiddingly cold(1)/
and remote and is also protected (2)/
by a treaty that preserves (3)/the continent
and wildlife (4).

(A) 3 (B) 2
(€) 1 (D) 4
98. No sooner (1)/was the funeral (2)/over
but Sandra (3)/left for the US (4).
(A) 4 B) 2
(C) 8 (D) 1

Fill in the blanks with appropriate articles from
among the options.

99. The corruption of best

becomes the worst.
(A) a
(B) the
(C) an
(D) not required
100. Tagore was a truly great
poet.
(A) The
(B) A
(C) An
(D) No article required
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101.

102.

108.

104.

105.

SECTION - B

Post Specific Subject-Related Questions

Which of these nutrients provides
energy ?

(A) Rice

(B) Honey

(C) Potatoes

(D) Al of the above

Which of these is contain simple
carbohydrates ?

(A) Maize
(B) Honey
(C) Sweet potato
(D) Wheat

Which of these nutrients are required
to repair old and damaged cells in the
body ?

(A) Carbohydrates

(B) Water

(C) Proteins

(D) Complex fibers

Identify the major mineral essential for
the growth and development among
humans.
(A) lron
(C) Glucose

(B) Calcium
(D) lodine

‘Anaemia’ is a condition where there is
not enough haemogiobin in the biood.
One of the major causes in India is due
to deficiency.

(A) Iron

(B) Vitamin B

(C) Vitamin A

(D) lodine

106.

108.

109.

110.

A balanced diet includes
numbers of food groups.

(A) Two
(B) Three
(C) Four
(D) Five

Which of these are preferred while
planning meals ?

(A) Emotional needs
(B) Rare foods

(C) Seasonal foods

(D) Psychological needs

Which of these leads to ripening of the
fruits ?

(A) Enzymes

(B) Micro-organisms

(C) Calcium

(D) Phosphorus

Food preservation by refrigeration is
ideal between which temperatures ?

(A) 90-120°C
(B) 10-15°C
(C) 40-70°C
(D) 1-10°C

Heating milk to a high temperature and
then quickly cooling, it is known as

(A) Sterilization
(B) Thawing

(C) Freezing

(D) Pasteurization
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-19-

8 | S -9 9N dcd TS Sl 8 2
(A) =rEd
(B) I1ee

(C) =1
(D) 3% &+t

Frefofaa o @ foretl g FeRESe B 2
(A) HeFHT

(B) ree

(C) s

(D)

forfefiae o & e e de St STavEE
R § gt o afe SR $
T & fou yedt & 2

(A) HTETErESE

(B) v

(C) WA

(D) wfed @

AHal 7 gie o fFwm & forg smewre
& A0 YR |

(A) = (B) Hfcimm

(C) (D) A

s 9 fufa @ <l ow ° wiw
HEtSUEE R HREITIC GRS ek e
FHIT fFFAE |

(A) wE

(B) faerfim <t

(C) faafimy

(D) 3FREH

106.

107.

108.

109.

110.
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T Hferd STER H W Tl i
HEATd S ® |

(A) =

B) &

(C) IR

(D) U=

HieH Y o1 S0 99 0 @ R
rerfireRar € S § 2

(A) TS ATSTIHAT

(B) et s

(C) Wt sTsH

(D) THIATI ATl

0 8 frad S TR § 2
(A) TSTEH

(B) HEwsfa

(C) Hfcwraw

(D) HIEHRE

Tfiae R SIS &1 9REer o arawe
W IR & ?

(A) 90-120°C

(B) 10-15°C

(C) 40-70°C

(D) 1-10°C

39 I Io9 A9 W T Fh Gld 38T T
FEA ¢ |

(A) Seie
(B) Touemn
(C) Tew=
(D) TS=RER
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112.

113.

114.

115.

Where industries emit sulphur dioxide
and motor vehicles release nitrogen
compounds the rain may reach a pH of 2.
The resuitant rain is known as

(A) Acid rain
(B) Basic rain
(C) Alkaline rain
(D) Pure rain

What percentage of depletion of the
ozone layer may cause skin cancer or
cataracts of the lens in the eyes ?

(A) 10-20%
(B) 20-25%
(C) 30-40%
(D) 5-10%

“Green house effect” is caused by which
of the following pollutants ?

(A) Nitrogen compound

(B) Carbon compound

(C) Suspended particulate matter
(D) Cotton fibres

When all the pore spaces between soil
particles are saturated with water, this
depth is called

(A) Artesian well
(B) River flow depth
(C) Water depth
(D) Water table

‘Eutrophication’ is a consequence of
which of the following ?

(A) Enriching atmospheric air
(B) Depletion of atmospheric air
(C) Nutrient depletion of a water body

(D) Nutrient enrichment of a water
body

A0 0 0 00

116.

117.

118.

1189.

120.

The condition resulting from lack of
nutrients in the diet is called

(A) Diabetes

(B) Hypertension
(C) Over-nutrition
(D) Malnutrition

Green leafy vegetables are an important
source of in the diet which may
help in weight management.

(A) Cholesterol
(B) Roughage
(C) Proteins
(D) Enzymes

Excessive felling of trees can lead to a
systemic phenomenon known as

(A) Desertification
(B) Recycling

(C) Reforestation
(D) Transpiration

Forest reserves are reduced by large
scale logging and clearance for farming
and other use. What is the term used to
describe this phenomenon ?

(A) Overgrazing
(B) Deforestation
(C) Urbanization
(D) Industrialization

The primary source of energy in
developing regions is

(A) Industrial gas

(B) Bio-gas

(C) Wood fuel

(D) Electricity
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112.
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el Il & Tewt TReTTESe e §
3R A1 e A1geeH Aifies e €,
F&i aul &1 pH 2 e IS ehar & | whomt
ELil Feadt 2|

(A) 3T Tui

(B) & awt

(C) Tehelig i

(D) g&am

AN T & &9 ¥ foraa wfawa =
F1 FE 1 Ai@ § 9 = AfriEe 8@
THAT S ?

(A) 10-20%

(B) 20-25%

(C) 30-40%

(D) 5-10%

“zfta 78 yre e & e wewes
% gRI BT 2 ?

(A) FTEEISH e

(B) ohreiv FifiTeh

(C) Trefera spor verd

(D) et W

& Ha1 I o S o 9 TN Wi @
T B A 6, T8 MO e ¢ |
(A) ST F

(B) & A8 TEAdl

(C) ST e

(D) & &R

gqﬁw(q@ﬁ%m)ﬁm%%aﬁﬁ
formert aftom 2 2

(A) Wﬂa@aﬁmm

(B) IYHSHIT I T &0

(C) T ST fAhTal 1 UreuT &0

(D) & STt e &t urur 9ty

116.

1TE

118.

119.

120.
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AER | qryeh! it wdt & gforg ferfy
FEATd! B |

(A) EEfES
(B) I=9 W=
(C) Afearyur

(D) ST

& woer ufssat smer d Col
T HEcaqUl &1d & W YR Je § g
FA e |

(A) eI

(B) Thst

(C) WHE

(D) TSTEE

et o STeaterens T weh woredi T afere
T 5ot gohd1 8, o FEAE |
(A) HEEIATRT

(B) gA:=sR0T

(C) TR

(D) STSAEESH

T TRETVT T T T J& 31 heTg SR FHN
TN 37 TNT ¥ | fohU ST & 9 8 T
B 1 39 9itee1 1 9 3 & fore sia-an
Y1e% YA foRan S ® ?

(A) sfo=rrs

(B) FHI=IEH

(C) vl

(D) 3frenieRtor

forrrasfier &t & St o wrufhe | @
(A) feifies i

(B) s

(C) el =1 38H

(D) forga
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121.

122.

123.

124,

125.
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Which of these statements best
describes a deep well ?

(A) Taps water from above the first
impervious layer

Taps purer water

Grossly contaminated

Usually goes dry during the summer
season

Which of these is a source of safe
water 7

(A) Sanitary well

(B) Rivers

(C) Sea water

(D) Shallow open well

Which of these types of wells is a health
hazard to the public ?

(A) Sanitary well
(B) Deep well
(C) Tube well
(D) Shallow well

To reduce bacterial contamination, how
far should a well be located from a likely
source of contamination ?

(A) 50 feet
(B) 30 feet
(C) 20 feet
(D) 10 feet

What is the biological advantage of
storing water ?

(A) Increase in algal growth

(B) Increase in bacterial count
(C) Decrease in smell

(D) Decrease in bacterial count

| 00O 0 OO0 OO O

126.

127.

128.

129.

130.

Which of these best describes ‘smog’ ?
(A) Smoke and fog

(B) Sandstorms

(C) Sulphur compounds

(D) Fibres from cotton and wool

‘Sound without value’ is also known as
(A) Noise
(B) Loud conversation
(C) Music
(D) Quiet conversation

With eutrophication of water bodies,
the decaying plants and organic matter
deplete the dissolved in
the water.

(A) Algal bloom

(B) Oxygen

(C) Water bloom
)

(D) Coagulants

White blood cells in the body produce
to fight against organisms

that may cause disease in human

beings.

(A) Antigen

(B) Antibody

(C) Serum

(D) Platelets

The body has a defence system that
fights against diseases, this is known
as

(A) Endocrine system
(B) Peripheral network
(C) Vaccine
(D) Immunity
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122.

123.

124.

125.
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ﬁw%lﬁaaﬁéaﬁq—mmwﬂﬁ@
Fi gdIS e R ?

(A) TIH STHET T & IR Uit Hereidn &
(B) Y= STt ferreran &

(C) &wu &9 ¥ wgfva

(D) T =g & AHT=IA: @ S

frafefa & & 9 -1 gefer ser
T Eid ® ?

F=fafad & @ SF-w1 59 57 9= &
Tore w wrees WA 2

(A) HFoIdl 9

(B) T

(C) g

(D) feser %

Sfarfoae wguer &1 F1 F % fo, T
@W%mnﬁaaﬁaﬁﬁmmmém
ifew 2

(A) 50 %2

(B) 30

(C) 20%rR

(D) 10

ST GUEYT 1 St o R 8 ?
(A) et i et @

(B) fianfoaes momEr et ®
(C) wes 1 et

(D) ShaTfoass o F9 2iet &

126.

12%:

128.

129.

130.
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T ¥ FH-T1 TIT FH guY =] a®
ARSI FAT S ?

(A) g 37 gur

(B) et FH

(C) wew Aifie

(D) a3 % W

forr v < = FEaTdl B
(A) TR

(B) SR & sl

(€) @i

(D) HH FrateTd

w1 Tl & guiver |, smufed 81
Tt MY 3 e verd W« 7 gfem
il FH 1 B

(R EIE|
(B) KIS E
€) s 3fa

(D) e

YRR | Yod T HOHT
m&ﬁ%@hﬁm‘rﬁﬁﬂm?ﬂﬁm@fsﬂa’r
¥ Ted &

(A) Wfersiiat
(B) wfeeft
(C) ¥

(D) wiEeIcH

TR 1 Uk e o & St T § S |,
®W_ FEdd

(A) Ta:@ret a3

(B) Ufe Aeaeh

(C) dmt

(D) T wieRieh o
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131.

132.

133.

134.

135.

Which of these is not a communicable
disease ?

(A) Diabetes
(C) Influenza

(B) Polio
(D) Typhoid

There is a gap of time between the
entry of germs into our body and the
appearance of symptoms of the disease.
This is known as the period.

(A) Immunologic
(B) Management
(C) Treatment
(D) Incubation

Which of these diseases is not spread
by mosquitoes ?

(A) Malaria

(B) Dengue

(C) Japanese encephalitis

(D) Hypertension

Which of the following is another term
used for non-communicable diseases 7

(A) . Transmissible diseases
(B) Lifestyle diseases

(C) Contagious diseases
(D) Vector-borne diseases

Some conditions can develop due to faulty
eating and living habits. Which of these
conditions are affected by such living ?

(A) Obesity

(B) Diabetes

(C) Hypertension
(D) All of the above

0 0 OO A

136.

137.

138.

139.

140.

Which of these is a non-modifiable
factor that can lead to the development
of non-communicable diseases ?

(A) Age

(B) Physical activity

(C) Food habits

(D) Smoking

Which of these diseases can spread
through the air borne route ?

(A) Hepatitis
(B) Tuberculosis
(C) Malaria
(D) Cholera

Which of these statements is correct ?
(A) HIV and AIDS always appear at the
same time.

HIV appears first and AIDS after
several years.
AIDS appears first and HIV after
several years.

HIV and AIDS are non-communicable.

(B)
(©)
(D)

HIV/AIDS cannot be spread by which
of the following ?

(A) Through the air

(B) Through blood transfusions
(C) From mother to the child
(D) Through sexual contact

Which of these diseases is spread
through wounds exposed to dust or
rusted items ?
(A) Tetanus

(C) Malaria

(B) Hepatitis
(D) Cholera
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fraferiaa 3 & e v war IR 7
(A) sEfds (B) Tiferan
(C) T¥eIEs (D) TAFES

TR TR | WMUAt & Jawr 3R U &
L F Y B & o9 THT IFaTA B
W_ IEuwEd

(A) T wferedt

(B) w&EA

(C) 3R

(D) TMgeEs

Freferfaa # @ Sar T =1 g 8
AT St ?

(A) TaifeEn

(B) <7

(C) Smurt femmft gEn

(D) =4 WM

Fr=feafaa & @ e R-d= Wi & fog
TR B AT U R W # 7

(A) =i T

(B) Sfiadedt T

(C) sHHvir T

(D) aTEHSIa AT

s fofoat oa @™ ok iR it aedi %
o ot gt 81 Feaferfaa 3 & S
eferat weft forarft & wfea St & 7

(A) W

(B) sHEfds
(C) =9 aEN
(D) 3% At
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frafefiaa § @ Fen safadfa s @
s -daoie T osfa s asa & 7
(A) g

(B) sitfess fora

(C) @ 3Ted

(D) TEu=

W & T SRS A 8
Ferar® ?

(A) hifern

(B) &

(C) wafam

(D) &

feffaa e P s ga 8 7
(A) TS 3R USH TN U € THY
T T B B

(B) TS TS e Tie & R TS
ERELEA

(C) TSH Yedt Wehe BIdT & 3R UHaRa
EEELE

(D) THEet 3R Tew R-wur

et /ugw et § @ frad
Yerar ?

(A) 9Tg % HTEH

(B) T&EH ERI

(C) wids=a =

(D) i 5=y 30

fraferfiaa 3 & S W g a1 s ot
TGS F ek B 919 & T W FAar § ?
(A) &= B) diferan

(C) Wit (D) &=
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142.

143.

144.

145.
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Parasites such as intestinal worms or
lice cause which of the following ?

(A) Infections

(B) Infestations

(C) Non-communicable conditions
(D) Lifestyle diseases

Hookworm infestations are generally
transmitted through which of the
following routes of transmission ?

(A) Inoculation into skin or mucosa
(B) Water borne

(C) Contact with soil

(D) Direct transmission

Materials that are able to carry infections
such as towels and hand-kerchiefs are
also known as

(A) Fomites
(B) Functions
(C) Vectors
(D) Carriers

Which of these diseases has a vaccine
to help prevent it from spreading in the
community ?

(A) HIV

(B) Hypertension
(C) Diabetes
(D) Polio

Which of these are known as a
behavioural risk factor in the causation
of hypertension ?

(A) Alcohol use

(B) Heart disease

(C) Cancer

(D) High blood glucose

146.

147.

148.

149.

150.

Which of these is an endocrine
disease ?

(A) Hypertension

(B) Diabetes mellitus

(C) Heart disease

(D) Stroke

Stimulant drinks such as coffee or tea
may cause which of the following ?

(B) Anxiety

(D) Acidity

(A) Depression
(C) Diabetes

Materials that decay or decompose over
a period of time are known as

(A) Non-biodegradable
(B) Plastic waste

(C) Metal waste

(D) Biodegradable

Which of these are examples of toxic
wastes ?

(A) Pendrives

(B) Mobile phones

(C) Old batteries

(D) Parts of the computer

Which of these types of burns on the

human body are fatal ?

(A) A superficial burn

(B) A partial thickness burn that is on
more than 20% of the body

(C) A partial thickness burn that is on
less than 20% of the body

(D) None of the above
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Which of these types of burns on the
human body require immediate medical
help ?

(A) Superficial burn

(B) Partial burn

(C) Non-partial burn

(D) Full thickness burn

Deep wells near the sea may have the
danger of intrusion.

(A) Saline
(B) Sand
(C) Viral
(D) Bacterial

The raw water which is an element of
the slow sand filter is also known as

(A) Filter water
(B) Supernatant water
(C) Soft water
(D) Hard water

In treating water, disinfection means
which of the following ?

(A) Removing hardness of water
(B) Removing softness of water
(C) Chlorination
(D) Desalination

Which of these is destroyed by the
addition of chlorine to water ?

(A) Spores

(B) Bacteria

(C) Poalio virus

(D) Hepatitis causing virus

0 0 A0 O 0 0 0 O
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The action of chlorine on water that
leads to purification is mainly due to the
release of which of the following ?

(A) Sulphide

(B) Sulphuric acid
(C) Manganese

(D) Hypochlorus

The most important part of the slow
sand filter is

(A) Supernatant water
(B) Treated water
(C) Sand bed

(D) Under drainage

In rapid sand filtration, where does the
water go after the flocculation chamber ?

(A) Mixing chamber
(B) Filter

(C) Sedimentation tank
(D) Water storage

The water that is mixed with alum is
subjected to violent agitation during
the process of water treatment. This
process is known as

(A) Coagulation

(B) Sedimentation

- (C) Flocculation
(D) Rapid mixing

In a rapid sand filter, slow and gentie
stirring of water after rapid mixing is
known as

(A) Sedimentation
(B) Coagulation
(C) Cascading
(D) Flocculation
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In drinking water, how much of the
bacteria, Escherichia Coli, is allowed ?

(A) It must not be detectable in 100 ml
sample

50000 in 100 ml sample
1000 in 100 ml sample
10 in 100 ml sample

(B)
(C)

(D)

In a vast majority of rural water supplies
in developing nations,

contamination is widespread.

(A) Hospital waste

(B) Faecal matter

(C) Garbage

(D) Garden waste

Escherichia Coli (E. Coli) is a precise
indicator of in the water.

(A) Contamination with rubbish
(B) Soil pollution

(C) Faecal pollution

(D) No contamination

Chlorine acts best as a disinfectant
when the pH of water is

(A) 4
(B) 7
€) 3
(D) 5

The soap destroying power of water is
also known as

(A) Break point chlorination
(B) Hardness of water

(C) Softness of water

(D) Salination

166.

167.

168.

169,

170.

Which of these compounds contributes
to hardness of water ?

(A) Mica compounds

(B) Magnesium bicarbonate
(C) Plastic particles

(D) lodine compounds

When refuse is burned, this method of
disposal is known as

(A) Incineration

(B) Sanitary fill

(C) Dumping

(D) Controlled tipping

Which of these is the most common
physical hazard experienced in most
industries ?

(A) Heat
(B) Cold
(C) Fractures
(D) Microbial

Which of these is an indirect effect of
heat exposure ?

(A) Burns
(B) Heat stroke
(C) Fatigue
(D) Heat cramps

Which of these is not associated with
working in cold environments ?

(A) Conjunctivitis
(B) Chilblains
(C) Frostbite
(D) Immersion foot
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Working with arc welding exposes the
individual to which of the following
occupational hazards ?

(A) Noise

(B) Light

(C) Ultraviolet radiation
(D) lonizing radiation

Working with pneumatic tools including
hammers and drills leads to which of the
following occupational exposures ?

(A) Light
(B) Vibration
(C) Noise
(D) Heat

‘Fitting the job to the worker’ is also
known as

(A) Industrial hygiene
(B) Ergonomics
(C) Industrial health
(D) Philanthropy

Cancer may occur due to occupational
exposure due to

(A) Burns
(B) Pressure
(C) Noise
(D) Radiation

Bagassosis is caused by exposure to
which of the following organic dusts ?

(A) Cane fibre
(B) Coal dust
(C) Iron
(D) Silica

176.

177,

178.

179.

180.

Tobacossis is caused due to occupational
exposure to tobacco which is a form of
dust.

(A) Inorganic
(B) Chemical
(C) Organic
(D) Metallic

A needle prick injury is an occupational
hazard for health workers. An injury from
such an infected needle can transmit
which of the following disease ?

(A) Common cold
(B) HIV

(C) Gastritis

(D) Skin rash

Which of these is most commonly a
source of occupational hazard among
industrial workers ?

(A) Cotton
(B) Lead
(C) Coal
(D) Grain

The Factories Act has been revised in
employee interest several times in our
country. Which of these is the latest year
in which the Act was amended ?

(A) 1881 (B) 1948
(C) 1949 (D) 1987

Which of these visual aids used in health
education require projection ?

(A) Slides

(B) Chalk-board

(C) Models

(D) Leaflets
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‘Television’ falls under which of the
following types of audio-visual aids which
may be used in health education ?

(A) Auditory

(B) Visual

(C) Combined audio-visual
(D) Group activity

Which of these methods is effective
in getting mass public attention while
disseminating health education ?

(A) Class-room teaching
(B) Group discussions
(C) Chalk-board

(D) Radio

Which of these methods of health
education is most effective when
teaching an audience on how to do a
certain procedure step-by-step ?

(A) Discussion
(B) Advertising
(C) Demonstration
(D) Didactic lecture

Mass media offers
of communication.

(A) Bi-directional

(B) One-way

(C) Triangular communication
(D) Two-way

type

The Medical Termination of Pregnancy
Act came into force in which year in
India ?

(A) 1971
(C) 1871

(B) 1990
(D) 2012

186.
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188.
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There are number of stages
that a nation passes through in a
demographic cycle.

(A) Three (B) Four
(C) Five (D) Six

The demographic cycle characterized
by high birth as well as high death rates
is known as

(A) High stationary
(B) Early expanding
(C) Late expanding
(D) Low stationary

The fourth stage in the demographic
cycle is also known as

(A) High stationary
(B) Low stationary
(C) Declining

(D) Early expanding

In which phase of the demographic
cycle is India in currently ?

(A) High stationary
(B) Early expanding
(C) Low stationary
(D) Late expanding

A general protection against the entry
of foreign organisms into our body is
provided through the immune system.
This type of immunity is known as

(A) Acquired immunity
(B) Natural immunity
(C) Immunization
(D) Vaccination
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When a person suffers from a disease
called mumps, for how long is the
immunity effective to fight against mumps
in the future in the same person ?

(A) 1 month

(B) 1year

(C) No immunity develops
(D) Life long

Inactivated or weak organisms or their
products that are used to prevent
diseases are known as

(A) Immunization (B) Pathogens

(C) Vectors (D) Vaccines

The measles vaccine is given during

which month ?
(A) 1tmonth  (B) 5! month

(C) 39month (D) 9" month

Oral hygiene is optimally maintained
when an individual brushes their teeth

(A) Twice a day
(B) Once a day
(C) Every alternate day

(D) At least once every hour

Which of these diseases can be
transmitted sexually ?

(A) Mumps (B) Measles

(C) Influenza (D) HIV/AIDS

196.

197.

198.

199.

200.

Which of these diseases spread by
indirect contact ?

(A) Influenza
(B) Diabetes
(C) HIV/AIDS
(D) Hypertension

Which of these diseases in humans is
caused due to mosquitoes ?

(A) HIV/AIDS

(B) Common cold

(C) Hepatitis

(D) Malaria

Which of these is a cereal ?
(A) Urad

(B)
(©)
(D)

Ragi
Peas
Spinach

Vitamins are derived from which of the
following food groups ?

(A) Cereal
(B) Pulses
(C) Fruits
(D) All of the above

Which Vitamin is present in rice ?
(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method
O&00

Wrong Method

Q@00

Wrong Method

Q@00

Correct Method
CeQO0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

Y0000 A 0 0
IMPORTANT INSTRUCTIONS TO CANDIDATES

Sefigari & ferg wevequi sEew

13.

W yfeas o 40 T B

14, Few : Yo% w97 3 7w A Y F 9%

18,

16.

7

18.

19.

IR IW FYST [ HYF A T § | TIH g
T 39! fEl T H 1 8 I W H /A IW
2 I HYF H QU HE 3 IR I B
I9GH MATHR @H A, B, C a1 D Fi e a1 e
af-Uig< 97 B ®en (@) F ? | (gfeanfim
Irrtgami & fore d@wma meren fofes g
wren foran )

N T WA I I H e e e

X e | T8 e i wm o) fmeifa R
Tereifert =1 =1 wél ol R femm mn 2

T Al
O®0O0

T el
o000

LUGRRGIED

O®@0O0

wE
ol Yole)

Sregeff S U1 I AEES WiE =R & sva=
fafa s =faw |

TS W99 I Fae TH 8 GE I 2 | AGH!
agfea S 3™ A, B, C a1 D & MR @M
1 HTET (@) FE1 2 | e 39 Foredt woa F |
TF § F MR @A HI W (@) @ 39
I I HFT SR |

afe fret woa & Rt qun STsh aEe § w8
IR R A IS TG € WE qH S |

Fed A % O $aw W9 9 1§ Ry R wm W
M H | IR YT W Fd AR |

30 gt & et STt SR AfRa TR FA E |
I FTA I UES A G 2

Go through instructions given in Page No. 1 (Facing Page)

-40-



